SH6EE FBPER TATEFE
=] B |/= g " BE | oos
H |, 1T = =2 11213/4],/5 6 B ST
1| B |85 r—a1 xR L e %= 3R) olo|z|ololo]| /| 1430 x
2 | k|6 olo|o|lo|olo| ol 1555 o
3| k|6 olo|o|lo|olo|o| 1555 o
4| K| 6 |EKADEERKRI14E olo|o|lo|olo|o| 1555 x
5 4|6 olo|lo|lo|olo| o] 1555 o
6 * BT iv Y
7 H F165E XFrKES Y
8 | A |5 |58 olo|lolol|olo]| /| 1455 x
9 | & | B4 |@EBIB/HKED olololol|o|l /| /| 1325 o
10 | 7 | B4 |ERIBHEQ olo|olo|o| /| /| 1325 o
11| & | B4 |ERHBHKE0O olo|lolol|o|l /| /| 1325 x
12 | & | B4 |EHBHKE® olo|lolol|o|l /| /| 1325 o
13 | = XAKE Y
14 H £168 XFrks Y
15 BDHE A
16 | k| B6 |ZZT7LALGEHESERY olololo|o /| 1525 o
17 | & | 5 |@guAn—suL olo|lolo /| 1455 o
18 | K |#5|SHAHARERYE ARRKR BEKT olo|o|lo|o|#&]| /| 1455 x
st | .
19| & | 2 L A EHEE R T\®\ SN S S 10:45 *
20 | = FRHAS(~25) Y
21 H RENH Y
22 EL/SS o}
23 | X O
24 | Ik O
25 | K O
2 | & o}
27 | + BA£(~8/3) X
28 H X
29 O
30 U3 O
31 | %k PREREES X
8/210K)H# B - B =E RETREZ 17:30
8 9/ 2(B)hZEE= - B B _ (BEERER AP RETREZ 16:00)
. (KBt SEHL2ERNTAS ZAR X BE EEROTETEAERICA>TNDE
o 4(7K) 5(R) B 5 RBR (2 4F) EIEBERLER T ABYES,
A | aohAgEET AN X TETLALGEDEERESEDFE
) B= LTWRIELDEENNRERYES, BEER
% EZLTALDTRRERYET,
T X KIZEDART, LRRE~DHIBAFRES

TUWSENEBDHEEN T HIHANDYET,




